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4 (Sem-4/CBCS) CAC
2022

COMMERCE
( Regular)

Paper : COM-RC-4016
(Corporate Accounting)
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

(Zre! G S e ARar )

1. Answer the followlng as directed : (any ten)
1 x10=10

w25 ~

(A) State whether the following are ‘true’
or ‘false’ :
R SRR oA Sow T = ¢
(i) Buy back of shares does not

affect the authorised share
capital of a company.

Contd.



WRHG TREH IR TS AT
@O SIS FEES I 2SR
CTCoR |

(i) Pooling of interest method is
applied in case of amalgamation
in the nature of merger.

e SER ARAIIT CFao offeR &%
VTG AwS et T W

(iii) Under assets-backing method,
value of one equity share = net
assets divided by number of
equity shares.

o5 @R wfS AR, <O 253
SHAEY T = V7 AIS TeiRree
2 230 SeIea Y |

(iv) Internal reconstruction entails
reduction of accumulated loss
and change in capital structure.

WEBIA AI AT @O ZIERA
S YR MO AT AR o7 |
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(v) Super profit is the excess of
normal profit over the actual
profit earned by a business entity.

<51 ARG TP aF wres eaAR &
SfoRe AR e wew I G =
s #e|

(B) Fill in the blanks :

Qe 31 279 71 8

(i) Bonus issue can be made out of
securities premium when it is

collected .
(in cash [without cash)

o Ay Efet———— SR
g, (ofeqg A5 CRIF [ sl o[t
| (F9% 4eVCs / R ¥97 409eS)

(i) After payment of consideration to
the shareholders on account of
share buy back, the amount held
in the escrow account shall be
released to the

TRXAY AT AT SHAGHITE TS
T ARCIR e 9o pie 4
97 4= e e =1
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" ({ij) Under net assets method,
purchase consideration is
to the amount of net assets taken
over by the company from the

firm.

oFS TN AS TP T T
@ARION SPiNg 7@ SR 1
o Alfes ———— |

(iv) Buy back of shares means
purchasing of equity shares of a
company by the
itself.

ot AR R T N B
AR oo ——— ek @ =4
@

(v) Accounting Standard (AS)
deals in accounting for
amalgamation.

R W ——— © WIfET
f2piolt T Wit |
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(C) Answer the following questions :
were AR Tes ol ¢

(i) Name one source from which fully
‘paid bonus share can be issued.

s SIS e Wit Rieeaom A
<5t sffem Tem i fa

(ii) What is corporate dividend tax ?
o e 79 e B e o

(iii) What is the accounting treatment
of interest on debenture while
preparing the Statement of Profit
and Loss ?

e I ERwR [ aws FwEice

Aol IS fopist I B 2

(iv) What is pre-acquisition profit in
accounts of holding company ?

(R @rT oo dis-ofkagt e
A B e '

(v) Mention one mode through which
alternation of capital may be done
by a company.

AN oA T FRI #I-T <Ot
s T : |
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2. Give brief answer of the following : (any

five)

2x5=10

wore il REawis evge 53 GBI ot ¢ (Ricaizar
“A551)

(@)

(b)

(c)

(d)

(e)

(9)

(h)

Right shares
iRRTE w

Purchase consideration

@y RS o

Minority interest in a holding company

QSR @rAINt oo RieTgT =i
Buy back of shares
TRHAIY ANIFA

Dog goodwill and Cat goodwill
e AN S% ALY FAN

Preliminary expenses

A_ST I

Reduction of share capital
SR NS T

Subsidiary company
G AN
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3.

Write brief answer on any four of the
following : 5x4=20

were Al Reie sifabre Raca 53 Tet ¢

(@)

(b)

(c)

(d)

What is bonus share ? Mention three
objectives of issue of bonus shares.

@mw\ﬁﬁs?@mw\ﬁﬁﬁa oA
T

Differentiate bonus shares and right
shares.

QRIE SI¥AG e SR E SHoE] AT
ot ANLFRIT 7R | |
Write any five points of distinction
between amalgamation in the nature
of merger and amalgamation in the
nature of purchase.

Siffeed AT AT O T oFfeT
GFTT W A/ ReAn s ey
G

Mention the purposes for which
‘securities premium reserve’ received
by a company can be utilised.

B @I eie ‘elfeefer st e &
& Trre 7T IR IR, T =0
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(e) Describe the manner of preparing
consolidated financial statements.

AfETeRd Rew afsrwm s ¥R i
I ==

() What are the situations that call for
internal reconstruction of a company ?

% 3 AR @R 9B TSR 7o
FRI A 2

(g9 The following is the extract of Trial
Balance of Kar Ltd. as on 31-3-2022:

= e 31-3-2022 ©fRRT Tge fem

e SR woTe frat =2 3

(%)
Sales 5,70,000
R&x
Purchases 2,20,000
&y
Salaries 80,000
LEREY
General Expenses 10,000
AR [T
Dividend Received 5,000
aMene eifel |
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Machinery 5,00,000
TS
Wages 20,000

TR

Opening Inventory 60,000
AT TGg© Ay
Staff Welfare Expense 2,000
I Tl N

Advertisement : 3,000
Reato

You are required to prepare a
Statement of Profit and Loss after

considering the following

wers fral Rawez Reeat IR @37 =re-

s RIS e it ¢

(i) Closing inventory as on 31-3-2022
is ¥ 25,000

31-3-2022 O FRA TGS Ay
25,000 53

(i) Depreciate machinery @ 10% for
6 months

AIfST 8%i7e I} 10% JI© 6 R
w9 =i ' |
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(iii) Outstanding salary ¥ 2,000
G2E w{w 2,000 Gl

(h) Explain ‘net assets’ method of
ascertaining the consideration for

amalgamation.
TIPS FFY dfon REeAT AR ‘o
Toif& smfSTor It |
4. Answer any four questions : 10x4=40
O Rt sifab1 el faat ¢

(@) From the following balances of Khan
' Ltd. as on 31-3-2022, prepare a
Balance Sheet as per the Companies

Act, 2013 : 10
31-3-2022 ©iR¥® ¥ Frae Tgex @
2013 579 ™! i SRpifR 2 fficoes
Tye Ffesiq awe 31 3

' (%)
Term Loan 10,00,000
iRt el
Trade Creditors 11,45,000
A 2hemi]
Cash Balance 2,75,000
QOO FAM 4
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Loose Tools ' 50,000

4Rt TS

Investments 5,25,000
Rfcat

Provision for Téxation 1,70,000

F[{ AR A AT

Securities Premium 4,75,000
fSefox wiftme
Loan from Debtors 2,00,000

(IS 2 TR A9

General Reserve 20,50,000
et < |

Equity Share Capital . 13,73,000
ATH T

Debtors ' 12,04,800
o]
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Stores : 4,00,000

TGSFS AT

Fixed Assets B 41,50,000
R TifE

Finished Goods ~ 7,50,000
Tesiifte AT

Capital Work-in-progress 2,58,000
w2afS e e Il

Preference Share Capital' 3,00,000
SAfEPRTE T

Debentures , 9,00,000
Aol

(b) Discuss the procedure of 'issuing right
shares by a company. 10

QIR PR TR @RI RIS Sl
R aftrar REw Sicam=t 3= 1
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(c) K. Ltd. has ¥ 4,00,000 in equity shares
of ¥ 10 each. It has ¥ 90,000 in
General Reserve and ¥ 30,000 in
Securities Premium - Reserve. The
company has passed necessary
resolutions to buy back 10,000 equity
shares at a premium of 10%. In order
to carry out the resolutions the
company issued ¥ 40,000, 12%
preference shares of ¥ 100 each.

Give Journal entries relating to buy
back of shares. 10

K. Ltd. S¥e@e 10 53t =4 4,00,000
B TR | TR AR sffere 90,000 T HiR
AfSefer wftge sfftre 30,000 T IR
GEITI 10,000 Bt Seieid 10% fETe
TN Ao Pras w@tl GRSty
I 40,000 51 AfSGe 100 3l
12% waiReRge g R R
TN e T AR i

(d) Mention different forms of internal

reconstruction. 10
e el Rfer i@ @ Taw
E
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(e) Raj Ltd. resolved to utilise
¥ 2,50,000 out of its General Reserve
Balance to declare a bonus to
shareholders by paying the final call
of ¥ 2.50 per share 1,00,000 equity
shares of ¥ 10 each. The company
further decided to utilize the balance .
-of Security Premium Account of ‘
¥ 2,00,000 by issuing fully paid-up
bonus shares. Pass Journal entries
in the books of the company and

show necessary workings. 10

A& Ltd. (OSCEIRN AR e Tged o
2,50,000 B SHi5lq (ITRT] OIS Soik
& AfSHIe 2.50 it wmiRt I 4R @-E
QI IE @EINE OE@HR T o
IR @ 2fogfS wfige v Ty 2,00,000
B9l o SmE @A wieisi RfR A
IR IR | @R IQ© wiewt AR frar
% PGS AR R e |

4 (Sem-4/CBCS)CAC/G 14



() Explain the provisions of AS-14
relating to accounting treatment of
amalgamation in the books of the
transferee company. v 10
2ol ARTA-14 PR AR CFae
BRI e BN I I 3

(g) Sun Ltd. took over the business of Star
Ltd. and the following was the Balance
Sheet of Star Ltd. as on 31-03-2022 :
5 Ltd., %519 Ltd. JIRCH SR [
T 31-03-2022 i B ffees Tye
I weTe il §9 onifee 3

Balance Sheet as on 31-03-2022
Tqe 719 31-03-2022
Particulars (%)
SERIRI
I. Equity and Liabilities
(= "R @R
(i) Shareholder’s Fund
TR Sffer
(a) Share Capital

BRH e

Equity Shares of

¥ 10 each fully paid 6,00,000

- s S Ao ‘

10 BT wiRHsiE
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Particulars
fRaafd

(®)

(b) Reserve & Surplus

I o AR

General Reserve 70,000
AR offer

Export Profit - 1,00,000
Reserve

QI e SffSr

(ii) Non-current Liabilities
e ot
Long-term borrowing
T et
6% Debenture
6% Ad?iq

(ii) Current Liabilities
et i
Trade Payable (Bills Payable)
IR o (2o Re)
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Particulars
fReafa

)

IL
@)

(i)

Assets (7€)
Non-current Assets
SRS e

Fixed Assets

R Tife

Current Assets

vlere Tife | ’
Inventory 2,40,000
(g <)

Trade Receivable 1,00,000
(Debtors)

FRADS aielf (@ W)

Cash 10,000
9

5,50,000

3,50,000
9,00,000

Purchase consideration was fixed as

follows :

w1 o RefiRe e bR fm @ e
(i) Cash payment of ¥ 2 per share of

Star Ltd.

P TGy ofem oida Im

2 5ol s s )
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(i) 90,000 shares of Sun Ltd. of ¥ 10
each fully paid, at a premium of
¥ 2 each.

Sun Ltd. &gt 10 SRt oidt 7=9fef
SR 2510t 90,000 Si=isid,
2fS0H 2 Tl wfigee RfE =

(iii) 6% debenture of Star Ltd. were

discharged at 5% premium by the
issue of 7% debentures of Sun
Ltd. issued at par.
Star Ltd. 6% 99[@ Sun Ltd. 7%
Y FATETS 5% Sfvge R IR
e =1 =1 |
Sun Ltd. revalued fixed assets at
¥ 6,90,000 and other assets at
book values, while sundry debtors
were taken over at ¥ 95,000.

Give journal entries in the books of
Sun Ltd. 10

Sun Ltd. TWR 3| Iz
6,90,000 53T® &% S FETR
&fe e (%8 $[e | wiNgice (ameE
95,000 T3e ATR INT [ TAA|
Sun Ltd.3%® Gim 2R® @@

4 (Sem-4/CBCS)CAC/G 18



(h) Discuss briefly the following :

5+5=10
wote AT RA 53 s = ¢

(i) Cost of Control
RERIE

(ii) Treatment of Unrealised Profit
S et IR

(i) Explain the provisions of the
Companies Act, 2013 regarding
preparation of final accounts of a

company. 10
=N OIS Zoi%t dEeTol Aife
2013 I ™R SZAT IR [T 3:4 |

() State the accounting entries to be
passed for buy back of shares in the

books of a company. 10
RN 3RS SR 2R AR el
e aRfPomg T =i |
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